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Topic:- General Knowledge and Logical Knowledge

1) Sanchi Stupa was built by / 1] &4 T Ao feaa fear
1. Bimbisara / fdfa¥R

2. Raja Bhoj / ST HISl

3. Ashoka / 3RM&

4. Kanishka / S{-sh

Correct Answer :-

« Ashoka / 3P

2) How many different 6-digit numbers can be formed from the digits 4, 5,2, 1, 8,9 ? / 3{®1 4, 5, 2, 1, 8,9 | faq

6-3i1 arelt weg FAfifa #1 o wedl 32
1. 480
2. 360
3.720

4. 840

Correct Answer :-
e 720

3) How many associate banks merged with State Bank of India (SBI) in 2017 / 2017 H YR W 5 ('QWGI'I?)

& A1y foraq gt 9@ faea g2
1.4
2.6
3.5

4.70

Correct Answer :-



4) Which State will become the first to launch a blood bank for cattle? / U] F ﬁl'({' Tdh &S S il P34 ara
TG UGAT I BI T T2

1. Gujarat / J[SIRId

2. Tamil Nadu / dfH@H g
3. Odisha/Bé 3]

4. Haryana / Eﬁ'CITUﬂ

Correct Answer :-

e Qdisha/ 33 3]

5) Which of the following scientists was associated with the first nuclear explosion in Pokharan? / URaror § ugae

T fawwie & w1y Fafafea § 9 o9 3 dmfe dds A2
1. Satish Dhawan / Hcl=T ¢a

2. Raja Ramanna / XTSI IHAT

3. Vikram Sarabhai / [dsd 1v'l'RT'J-I'Ig

4. S S Bhatnagar / TH T HCANR

Correct Answer :-

» Raja Ramanna / XTSI XHY

6) Which is India’s highest award in cinema? / REATT ® YR STHAA RIHR CaCk:|| %?
1. Dadasaheb Phalke Award / QIGl Hl%a Tleh RIPR

2. Academy Awards / QaT{':fﬁ YRIHR
3. Filmfare / fPEHIR

4. 1IFA / 3TSWHT

Correct Answer :-

¢ Dadasaheb Phalke Award / QIGI FI%H et RIDPR

7) The Tansen Music Festival is held in __. AT i m? _ o smaifora fosam siar %I

1. Indore / 3?3?

2. Gwalior / TaTfCRR
3. Ranchi / It

4. Bhopal / T

Correct Answer :-



« Gwalior / TdTCIIR

8) Kudankulam Nuclear Power Plant is located in / PUSAPTH IR Ep) ﬁ'ﬁ’qﬂ gfegierT |
fR@z

1. Gujarat / [oIRId

2. Uttarakhand / STRIES

3. Tamil Nadu / AT

4. Madhya Pradesh / TGS

Correct Answer :-

« Tamil Nadu / A0S

9) Parmeet and Charu start moving towards each other from 2 places 200 m apart. After walking 60 m, Charu
turns left and goes 20 m, then turns right and goes another 40 m. She then turns right again and comes back on the
path on which she started walking. If Parmeet and Charu walk with the same speed, What is the distance between

them now? / TRHIT Td I 7 2 VA T A TH-goR B R T IR foan ot 200 Frex F gft wF1 60 7.
T & 916 IR= a13 3R GSHR 20 HY. Tehl, 63 a8 318 3tk gt 3R 40 1. T =eht| e 95 v IR v a1
3R g3t 3R S AFf UR 91Uy 3 T3 oy W 39 ga R {6 A1 afe urHie oiR aRE que gt 9
Idd ¢ a1 59 IHT STb A DI g3l |T R

1. 40 m / 40 Y.
2.20m /20 HI.
3.50 m/ 50 HI.

4.10m/ 10 H.

Correct Answer :-
« 40m/40H.

10) The Bhakra Nangal Dam is built across the River / HREST ATel 914 39 T R fAffa @
1. Jhelum / STH

2. Chenab / TTE

3. Ravi /@l

4. Sutlej / FaS

Correct Answer :-
o Sutlej / Fdels

11) Average literacy rate of Madhya Pradesh according to 2011 census was / 2011 P TRIUHET & STAR 49

TR P 3N FI&RdT &2 A |



1. 24.33%
2. 58.19%
3.69.32%

4.75.2%

Correct Answer :-

e 69.32%

12) Viswanathan Anand is a famous player of _ / ICECRINERIE & ufrs @Fﬂg’f %I
1. Golf / Tie

2. Hockey / E’Tﬁ

3. Badminton / S8 e

4. Chess / ARl

Correct Answer :-

e Chess / AR

13) Most important towns in the Malwa region are / HTCIdl & ¥ g WW %
1. Panna and Ujjain / U4l 3R I®H

2. Ujjain and Indore / IeH 3R s_caT

3. Umaria and Rewa / SHIET 3R XaT

4. Rewa and Bhind / ¥dT 3R fi0g

Correct Answer :-

« Ujjain and Indore / IS 3R $ER

14) The term of office of the Governor is / XTSAYTA BT HrIPTd fHd-T 3-1?“ %?
1. 6 years /6 CL
2. 5years/5 CL
3.3 years/3 ¥

4.4 years/4a'5f

Correct Answer :-

. Syears/Sa'Ef



15) The term ‘Deuce’ is associated with /RMeq 'STH' 399 Hafia g
1. Cricket / fopcbe
2. Hockey / EW

3. Football / pedld
4. Tennis / <

Correct Answer :-

« Tennis / ¢

16) ‘Home Rule League’ was established by / 'F.Tq T AN B RITIT ?Fla'? IRT O T <t
1. Bal Gangadhar Tilak / STl TTTER IRNEY

2. PS. Mehta / G100 A5l

3. S.N. Bannerjee / TH. T, Geiil

4. Annie Besant / Q:ﬁ e

Correct Answer :-

e Annie Besant / Q:ﬁ e

17) Who was the first non-American TIME person of the year? / UgdT IR-3MR®} 215w qd= 31w & suv #19
17

1. Indra Nooyi / I T.“z:
2. Mahatma Gandhi / HelTHT Tﬁ%ﬁ

3. JR D Tata/ S 3R S} €TeT

4. Narendra Modi / TR HIc!

Correct Answer :-
« Mahatma Gandhi / HETEHT TTeft

18) Who won the Women's Singles China Open Badminton Tournament in 2016? / 2016 o afger Toa 94 v

Ysfifeq gafaw fraa sfiar 2

1. P V Sindhu / G ot Rig

2. Jwala Gutta / SdIcil 7T

3. Ashwini Ponnappa / ST g
4. Saina Nehwal / 1T elf;a'l?f

Correct Answer :-



« PV Sindhu /Ul 9t iy

19) Two dice are thrown simultaneously. The probability of getting a sum of 8 is / R K| Uh 1Y B RILY %'I AE|
& TeRI BT A1 8 3T Pt WRSGAT 1 & IR 3:

&

oy | =

1
_.-I_

Correct Answer :-

20) The famous Sarod Player born in Gwalior was / TqTfera] § Oar Y RIS WG ae® A
1. Amjad Ali Khan / 309G 37cil &1

2. Pandit Ravi Shankar / Gf&d Ifd Tidhr

3. Pandit Jasraj / BIESES N

4. Ravi Shankar Shukla / XTARIhR R

Correct Answer :-

« Amjad Ali Khan / 3[F9TG 37cl @

21) was conferred with the International Maritime Organization Award for Exceptional Bravery at Sea

in 20162 /2016 § TY% H SNTYRUI AR F g =g Wl wie &1 TR 31w farar wn
U

1. Captain Urvashi Rana / il RCRIRIEI]
2. Captain Radhika Menon / S Ul NIRCIR:EE]
3. Lieutenant Ganeve Lalji / dftere T4 ardon

4. Lieutenant Commander Priya Jeyakumar / dftede wareR O \?19171-”(




Correct Answer :-

« Captain Radhika Menon / @& XITYHT T

22) Find the odd one out: / T fauH J1a Hiforg:
1,1,2, 6, 24, 98, 720, 5040

1. 98

2.6

3.24

4. 720

Correct Answer :-

23) The original jurisdiction of the Supreme Court covers / STdH =TT & Hd SR & ¥ wmftra %
1. Terrorism-related cases / 3Tcidrarg Yaierd AT

2. Disputes between different units of the Indian Union / YR 99 1 A Wléq‘f & &g faare

3. Criminal cases / ORI ATHA

4. Issues regarding National Integrity / Tl'@'q Jrdedr & favg o H%{

Correct Answer :-

« Disputes between different units of the Indian Union / YR I9 &t fafde W’s&fﬁ & &g ]%E'I_CI

24) The Indians who were conferred with the Ramon Magsayay Award 2016 was T M Krishna and /a

YR g T A8 PR 2016 4 WG fparmar ar, aftgagoreik Q)
1. Kiran Bedi / {01 9t

2. Bezwada Wilson / SSTaTST fae

3. Harsh Hande / §Y 8108

4. Arvind Kejriwal / 3Rdg droRiara

Correct Answer :-

« Bezwada Wilson / So1araT faeq
25) Complete the series choosing the missing number: / T BT FAB YT DI TRT PHOQ
1, 6,11, 21

1. 16



2.12
3. 18

4. 14

Correct Answer :-

e 16

26) Complete the series choosing the missing number: / T& &I GAH YT BT TRT HIOIC:
80, 73, 66, ; 52

1. 58

2. 59

3.55

4. 60

Correct Answer :-

« 59

27) Complete the series choosing the missing number: / T BT BT YT DI [T BIFOIC:
27,23,19,15, _

1. 12

2. 10

3. 11

4. 14

Correct Answer :-

28) The series given below contains a sequence of humbers. Identify the incorrect combination: / EiE|

& 7S yaar |, T=TSl FT Uh HH IURRIG § | Tad Ao Ugan:
1, 3, 10, 21, 64, 128, 388

1. 10

2. 388

3.128

4. 64

Correct Answer :-



29) The series given below contains a sequence of humbers. Identify the incorrect combination: / EiE|

3t 1 e H, TEsil &1 Ue H SufRud € | Tad Yl ugdn-e:
2,5, 10, 17, 26, 37, 51, 65

1.51

2.26

3.17

4. 65

Correct Answer :-

30) If FLOWER is coded EMNXDS, then how is GAMBLE coded? / Uf¢ FLOWER & EMNXDSQ Hifsd
a1 ST @, A GAMBLE & 31 Sifsd forar STRTm?

1. HCODNG
2. BFCKLF
3. DMXNES

4. FBLCKF

Correct Answer :-

« FBLCKF

31) Complete the series choosing the missing letter/s: / &R/ A& B AR maﬁ q:uaﬂﬁnz:
__aaba__bba__bba__abaa_ b

1.a,a,b,a,b

2.a,b,a,b,a

3.b,b,a,b,b

4.b,b,a,b,a

Correct Answer :-

32) Select the option that is true about the Statements and Conclusions given:

Statements:



All shirts are trousers
No trouser is a towel

Conclusions:
I. Some shirts are towels
II. No shirt is towel

/ 39 Aoy &1 9g1 FIfTE ife RE Te Fyi iR FArepui F IR A WSt 8 :
DY:
a7 TSR @

PIS TSV fora 181 8

forspd:

1. PO e AT s

I $TS & Aferan 181 3

1. both conclusion I and I follows / fspt 1 Gﬁ? 11 a:ﬁ SR HId %

2. either conclusion I or conclusion IT follows / T Y FSRY 1 4T fshY 11 3R 6d &
3. only conclusion IT follows / %ad &HY 11 3FTIRVT HRl §

4. only conclusion I follows / Had feeps 1 STTARUT HAT ?

Correct Answer :-

« either conclusion I or conclusion I follows / TT df fshY 1 a1 fAwpy 11 STPIR0 B %

33) Select the option that is true about the Statements and Conclusions given:

Statements:
Some mails are letters
All letters are posts

Conclusions:
I. Some posts are letters
II. Some letters are not mails

1 39 fapea &1 7 PIfoTE i f3g e Hu=T ok Fepsl S IR F wdl 3 :
DY

POAATAE

i

e

1. P U U &

L PO AT E

1. both conclusion I and II follows / fASHY I 3R Haﬁ&aﬂwwﬁ%

2. only conclusion II follows / &Had FTpY 11 ST FRAT S

3. only conclusion I follows / Pdd fASHY I STTRUN FHaT §



4. neither conclusion I nor conclusion II follows / = a Aspd 1 3R A Ep[ sy 11 AT A %

Correct Answer :-

« only conclusion I follows / Hdd fHY [ SRV HRT &

34) Select the option that is true about the Statements and Conclusions given:

Statements:
All fruits are vegetables
All vegetables are fresh

Conclusions:
1. All fruits are fresh
II. Some fruits are fresh

/ 39 fapey &1 9g1 FTE Sifeh T Te Fy-l iR Frepuf P IR H St 2
DY:

Tt v gforai &

Tt afesrai areht @

e

I.Wmﬁaﬁ?
LB FA S g

1. both conclusion I and II follows / fAspy 1 3R 11 ?.‘(;F‘ﬁ ST A %

2. only conclusion II follows / Had sy 11 SITIRTT HT %

3. only conclusion I follows / Had sy | SRV hdl %

4. neither conclusion I nor conclusion II follows / = _6‘3[ fspy 1 3‘ﬁ? C Ep[ ey 11 AT GG %

Correct Answer :-

« only conclusion I follows / Had fSHY I SRV HRT §

35) Select the option that is true about the Statements and Conclusions given:

Statements:
All planes are trains
All trains are buses

Conclusions:
I. Some planes are buses
I1. All buses are planes

/39 fapeu &1 9g1 P wifeh T Te Fy=l iR Frepuf F IR T At 2 :
DY:
gt sew e ®



LRY I K

.

1. $S 8T 99 §

.9 s e €

1. both conclusion I and I follows / fIspt 1 Gﬁ? 11 a:ﬁ SR HId %

2. only conclusion IT follows / Bad T&HY 11 SFITRVT Rl §

3. only conclusion I follows / Pdd fASHY [ TTRUN FHaT §

4, neither conclusion I nor conclusion II follows /= éT fspy 1 3R T E?f ey 11 TR GG %

Correct Answer :-

¢ neither conclusion I nor conclusion II follows / ésf frpy | G?IT « é‘r fspy 11 ST GG %

36) In a certain code language, Eat fresh apple means keat teek kata, Eat the food means meek peek
teek, Fresh lime juice means kata seda tob. Which is the word for keat in that code language? / UT&h
WY IS HTUT H, Eat fresh apple 3T 3 keat teek kata; Eat the food T 31 meek peek teek IUT Fresh
lime juice 3T 31 kata seda tob 3141 &1 SH ®IS HTUT # keat & 7T ford 2reg BT XA foaT AT 272

1. juice
2. apple
3. lime

4. food

Correct Answer :-

e apple

37) In the following question, some group of letters is given, all of which, except one, share a
common similarity while one is different. Choose the odd one out:

/ g vy ¥ s1eRY & o 9ye Ry e €, R @ v ) Sise? A 9t v qurar uelRia s € wafe v
399 fird 31 v faww gra Fifsre:

1. TVX
2. MOQ
3. GEC

4. PRT

Correct Answer :-
o GEC

38) If MADRAS is coded NBESBT, then how is MUMBAI coded? / Gf¢ MADRAS %! NBESBT ¥ ®ifgd
a1 ST €, @ MUMBAI &) &3 $ifed foar s



1. NVNDBJ
2. NVKCBJ
3. NVNCBJ

4. NVNCZJ

Correct Answer :-
e NVNCBIJ

39) In a certain code language, Please avoid drinking means cor jus nel, Drinking is harmful means nel cun
rem, and Avoid harmful habits means jus ben cun. Which is the word for /s in that code language? / U W
PIS UTHT ff, Please avoid drinking 1 3 ¥ cor jus nef; Drinking is harmful &1 31 +f nel cun rem YU Avoid
harmful habits 1 3Y jus ben cun BT g1 39 BIS HTWT H js $ fore frd wreg o1 53awTar forar mam 82

1. nel
2. rem
3. jus
4. cun

Correct Answer :-

* rem

40) If CINEMA is coded GERAQW, then how is THEATRE coded? | ¢ CINEMA & GERAQW ®ifsd forar
SITdT 8, A1 THEATRE®! &9 ifsd forar srawm?

1. XDJWXMI
2. XDIWYMI
3. XDIVXNJ

4. XDIWXNI

Correct Answer :-

« XDIWXNI

Topic:- Mental Ability and Mental Aptitude

1)



In the sequence shown below, which figure comes next? / A &3 & &H #, T
i i | HREA?

If the following two squares shown below overlap, which one of the following options

is formed? / afe &Fa ef oo wfdcfag 87 & o BFa F & =i= @1 v GFeT a7 &7

------------




i----'."
9 F
1.
|
A%
K F
2.
3 }
S
I ]
-
= F
3.
L
B
] ]
A
1
4.
Correct Answer :-
oy
s N,
¢l
-l
= F
3)

In the sequence shown below, which figure comes next? / @i &3 & A #, 3@l
i @l | 3RE?

oDk




. = :

2.
.

3
3.

A,

. o)

et
4,

Correct Answer :-

4) Two pipes A and B can fill a tank in 30 hours and 35 hours, respectively. If both the pipes are opened
simultaneously, how much time will it take to fill the tank? / & UTSU A UG B SHHYT: 30 T¢ 3R 35 G¢ A U ¢ &l
W FHd § 1 Ife G UT5U TP 1Y G A1 7, A1 &b BT WA | foha=11 99g ahm?

lﬁlhrs { lﬁl‘Ei'ET
13 13

5 5
16—hrs / 16—H&
13 13

12 12 .
16— hrs / 16=9¢
13 13

2 g
16 —hrs / 16 _9c¢
4 13 13

Correct Answer :-
2 Lo
16—hrs | 16 —H¢
13 13



5) Three boys Hari, Biju and Naga together have Rs. 675. Hari has got three times as much as Biju but Rs. 25
more than Naga. How much does Naga have? / Gikl m Eﬁ, Tfﬁi?ﬂﬂ' I 9 & Tt d e 675 *qu
21 el & Uy i A 9 777 iftres Afdr A A 25 FUT Siftre 82 AN & Uy fhan vue @2

1. Rs. 275 /275 %4UUQ
2.Rs. 175/ 175%4UQ
3. Rs. 375/375%4UQ

4. Rs. 325/325%UU

Correct Answer :-

e Rs.275/275%4Ud

6) Mahesh has Rs. 50,000 which he converts to Dollars at 1 Dollar = 45 Rupees before going on a weekend trip to
foreign. After returning he finds that he still has 200 Dollars remaining with him. How much amount in Rupees did
he spend during his trip? /TI%QTa'TW 50,0003%,%%3’3%%“@@%’@ 18R = 45'\5'Q'Q'El'ﬁiﬂ'
A ST # ggadl g1 Test & 91 98 UTaT & [ 38 ur 3t oft 200 STeR 9 71 3roeh amn & R 3|
fra v wd fpw?

1. 41,000 Rupees / 41,000 ST
2. 40,000 Rupees / 40,000 ST
3. 35,000 Rupees / 35,000 ST

4. 45,500 Rupees / 45,500 ST

Correct Answer :-

« 41,000 Rupees / 41,000 TGT

7) 1f 90 % of a - b is equal to 60 % of a + b, what percentage of a is b? /& a-b BT 90% a+b F 60% %W%,

t a @1 foramT wfa=ra b 82
1. 40
2. 10
3.20

4. 30

Correct Answer :-

8) Which of the following pair has the same ratio as 70 : 105? /Fafafead 9 g \_rﬁ@ DT 3MUTd 70:105 ¥
A &2

1. 496 : 620

2.366:244



3. 185:370

4. 468 : 702

Correct Answer :-

e 468 :702

9) The product of 103, 102, and 98 is: / 103, 102, QH 98 W‘IUFIW%
1. None of the above / G@aﬁﬁﬁaﬁs‘: ﬂ-ﬁ:l—tﬁ

2.10,28,588

3. 10,29,568

4.10,29,588

Correct Answer :-

» 10,29,588

10) What will be the last digit, when you expand 7233 2/ Sifaw i wr F’lTIT, W9 3 7233 &7 fIwR 92
1.6
2.7
3.9

4.3

Correct Answer :-

11) John can paint a house in 15 days; Joe can do the same in 10 days; while James can do it in 5 days. If all the
three work together, then what part of the job can they complete in one day? / S 15 ﬁT-ﬁ' | UPh U Pl Ue BT
|l §; 1 10 fEAT & THT HX WopdT §; TGP o §9 5 1 § % wdar 31 9fe i1 0o A1Y SR a3 8,
ot 3 U o ® &1 31 e i 1 o7 a@a 82

13
33

Lol | =

11

3 30

4. None of the above / JURIF ﬁ’sﬁ ot :Iﬁ



Correct Answer :-

11
30

12) The ratio between the present ages of Yolo and Zolo is 6 : 7. If Zolo is 4 years old than Yolo, what will be the

ratio of the ages of Yolo and Zolo after 4 years? / e 3R S Ft adH= ST b1 JUTd 6:7 21 afe e At
B AT T 4 78 73T 8, A 4 T 91 Tt 3R HAl B SR BT ST FIT §RI?

1. None ofthese/mﬁgﬁgﬂ-ﬂ:ﬁﬁ
2.8:5
3.7:5

4,7:8

Correct Answer :-

13) Average income of 100 employees 92, out of which average income of 40 employees is 80. What is the average

of the remaining 60 employees? / 100 ARG B 3NTa 31 92 %, o H | 40 HHnfYal @ fiad 3ma 80 %I
Y 60 FHATRAT B ST 3T T 32

1. 100
2. 105
3.95

4. 92

Correct Answer :-

« 100

14) If the average score of 30 boys in a class is 80; and the average score of 20 girls in the same class is 90; what is

the average score of the entire class? /w%waﬁffso asﬁm 3T TR 80 %; R I T A 20 Flgﬁﬂffﬂﬂ
ST PR 90 B; O R v & SiRTd THIR 1 82

1. 84
2.82
3. 80

4.90

Correct Answer :-

- 84



15) A fruit vendor purchases 3240 apples at USD 7 a dozen. During transportation, 10% get damaged and have to
be discarded. The remaining apples are sold at the rate of USD 2 for 3. What is the profit or loss percentage? / T

Bd fashdr A 3240 TSI P 7 STeR UfA ol D1 & A @IaT | TREgT & SR, 10% &ifaud 81 9d & ok 39
P faur STar 8 1 AW I 2 STaR Ui 3 A B a3 A ST SITdT 8 | A1H Sryar g1 ufa=ra «un 82

21% profit / 21% ElE)
7 7
1.
2 2
1-% profit / 1=-% =&
3 3
2.
EE% profit / EE% GL:E
T 7
3.
2 2
4=% profit / 4=% <
7 7
4,

Correct Answer :-

2—="% profit / 2?% el

e N

16) A spherical lead ball of diameter 15 cm is melted and lead shots of radius 1.5 mm are made. The process

involves wastage of 3%. How many lead balls are made? / 15 ﬁmaﬁﬁa%wﬁwﬁaaﬁﬁw
;ﬁ;ﬁmmﬁﬁaaﬁﬂ?maﬁﬁl 3 Uik | 3% ot gatct Wt e 31 wia @ fFasit 71 a1

1. 121250
2. 7760
3. 62080

4. 970000

Correct Answer :-
e 121250

17) A father is four times as old as his son. Four years hence, the sum of their ages will be 43 years. The ages of the
son and the father are , respectively / T T 3Mq_ G A AR AT IS 81 4 9 91, IAD! 3T BT TNT 43
¥ g1 1 g SR e &Y 37 swa=m: gl

1. None of the above /mﬁﬁaﬂg ﬂ-ﬁqﬁ
2.3 and 26 years / 3 U1 26 CL

3. 5and 27 years / 5 AUl 27 CL



4. 7 and 28 years / 7 YT 28 GL

Correct Answer :-

e 7 and 28 years /7 dYT 28 ¢

18) 14 workers can make 10 tables in 5 days. 10 workers started working, and 1 worker joined on the sth day.

How many days will take to make 12 tables? / 14 &rﬁﬁ?sﬁ‘-ﬁﬁ IOWWW%I 10 4P A HTH BT
= i, T 1 9iftre 5 e e 81 | 12 39w 9 A e e oY

1.4
2.7
3.9

4.8

Correct Answer :-

e 8

19) A fresh fruit contains 62 % of water, and a dry fruit contains 24 % of water. How much dry fruit can be
obtained from a 100 kg of fresh fruit? / U oo Bd | 62% T fARd 8, TUT TH TW B A 24% od Hfga 21
100 fFauTH Ao wa & fran @ wa ure f$3 &1 9@ 32

1. 48 kg / 48 f3n
2. 50 kg / 50 fabum
3. 40 kg / 40 fopum

4. 45 kg / 45 o

Correct Answer :-

« 50kg /50 o

20) The ages of a group of four people are four consecutive even numbers. If the sum of the age of the group is 156
then, find the age of the oldest member of the group. / Udh HHg§ & IR @RI Bt ST TR IR 99 J=IY %I
gfe e B 3ATY BT AT 156 8, A TYE P I T TS D1 AT J1d B

1.42
2. 40
3.36

4. 38

Correct Answer :-

. 42



21) The average of a set of 20 values is 15.8. The mean increases by 0.4. When a mean value is added to the set.
Then the new value is: / 20 % U g BT 3T A 15.8 3| AT 0.4 TF §¢ ST & | 919 TH HIeA A GG A
SNST SITdT 81 Y 971 |1 8-

1.24.2
2.204
3. 158

4.22.4

Correct Answer :-

e 242

22) The ages of Imran and Akbar are in the ratio of 3 : 4. If after 16 years their ages will be in the ratio 5 : 6, then
what is the present age of Imran? / SART 3R 3(HaR B W 3: 4 & JUTd A 21 AT 16 T 91¢ IAP S BT
ST 5:6 H SN, oY SHRTH B IiHI 3T T 82

1.24
2.29
3.27

4.25

Correct Answer :-

. 24

23) The average weight of A, B, C is 55 kg. The average weight of A & B be 50 kg & that of B & C is 60 kg. Find
the weight of B./ A, B Td C BT 3NTd goi 55 fPaluTH 81 A T B BT 3NTd goi 50 fheumd § U1 B Td C &1
60 fHEUT 31 B T aoi J1d B |

1. 57 kg /57 fpaum®
2. 60 kg / 60 fpaomd
3. 50 kg / 50 foparomd
4. 55 kg / 55 fpamom

Correct Answer :-

.« 55kg/ 55 fhamm

24) The cost of 15 articles is the selling price of 10 articles. Find the profit %. / 15 aTg'aﬁ &1 ARG, 10 aﬁéﬁ Cai
fasra gea 31 14 % F1a B

36%



I';’:I';’nl %
3
33-%

250%

Correct Answer :-

250%

25) In the same time-span, Mark Spitz can swim twice the distance downstream than upstream. The speed of the
current is 2 kmph. How long would he take to swim 3 km in still water? | HTh m Udh é’f J9Y 34afy ﬁ fauda
YRT & IO YRT & A1 G g8 9 3R a1 21 YRT A AR 2 fref ufy ger 81 RR U A 3 R 11,
oA § 3 foramr awg a2

1. Cannot be determined / RefRa 7gY fovar o gpar @
2. 48 min / 48 fie
3. 30 min / 30 THE

4. 24 min / 24 T

Correct Answer :-

« 30 min /30 fBFe

26) A train shuttles between stations A and B, and stops at 5 intermediate stations for 5 mins each. Assume that
the stations are at equal intervals of 10 km, and the train is moving at a speed of 50 kmph, how long will it take to

reach B? / T YENTIS! WX A 3R B & 19 Wcd Hd! & iR 5 e & fore e 5 weaadf wexE v Tadt
21 A o i R 10 frHt & SRR SR W & 3R 9 50 frft ufd g S i A e g & R, A sA B do
g+ ¥ fvaeT 9w @

1. 97 min/ 97 e
2. 85 min / 85 fHIC
3. 60 min / 60 T

4,72 min/ 72 fiFE

Correct Answer :-

« 97 min/97 fiFE



Which one of the following four addresses is NOT EXACTLY same as the one given below? / f5% faa 1
IR gal & A - A R va & S quE 1 91 v T8 82

Stephen Horlicks,
23-36 Alpine Place,

2171 Horningsea Park, Australia

(i) Stephen Horlicks,
23-36 Alpine Place,

2171 Horningsea Park, Australia

(ii) Stephen Horlicks,
23-36 Alpine Place,

2171 Morningsea Park, Australia

(iii) Stephen Horlicks,
23-36 Alpine Place,

2171 Horningsea Park, Australia

(iv) Stephen Horlicks,
23-36 Alpine Place,
2171 Horningsea Park, Australia

1. il

Correct Answer :-

o i

28) Find the average. / e ferferd |
81, 72, 63, 55, 43 & 34

1. 58

2.52



3. 61

4. 56

Correct Answer :-
o 58

29) A thief is noticed by a policeman from a distance of 200 m. The thief starts running and the policeman chases him.
The thief and policeman run at the rate of 10 kmph and 11 kmph respectively. At what distance will the policeman

catches the thief? / T TR 200 Hiex B gt T Th YA gRT S| oI1aT 8 1 TR QST ARY HaT 8 3R
R 3TeT fiaT Ha &1 TR 3R gferasHf ww=r: 10 forht ufa ger ok 1 frrft ufa 6 St v A s
g1 gferredf 9k &t i gt R uws a2

1.2.4km /2.4 foet
2.2.2km/2.2 &t
3.2 km /2 foH

4.2.6 km /2.6 Tl

Correct Answer :-

e 22km/2.2 et

30) The series given below contains a sequence of alphabets and numbers. Identify the incorrect combination: /:ﬁ%?ﬂ
T g H, 3reRY 3R Wwail &1 v HH Afed €| Tad TaeH g

i.qwerrq08031rqewq

ii.qwerrq08031gqewq

iii.qwerrq08031rqewq

iv.qwerrq08031rqewq

1.1

Topic:- Science and Simple Arithmetic

1)



By what number should (%} -4 be divided so that the quotient is (3)
477 (D) * o FeE BT F ST A ST e (0) ¢ W
g7

2 1 f 1
) x'+—=23 thenx+-= K +==23, @ x+-=
X k4 Ed Ed

3, 15

4, 16

Correct Answer :-

3)
In the adjoining figure, if 2SPQ =65° and ~SQP = 7(°, Then, /PRQ=——'Tw 71w &7 A, afg 25PQ

= 65° 3 2SQP = 70°, dl, 2PRQ =




1. 500
2. 359
3. 40°
4, 450

Correct Answer :-

e 450

4) Vacuoles are cavities filled with a fluid called ./ |t WA I Ul g8 e gl
1. starch / Td

2. proteins/Eﬁ?ﬁ:[

3. fat globules / T9T MeIHIY

4. cell sap | PIRGT T

Correct Answer :-

« cell sap / HITRHTI A

5) Find the mean of first 5 two-digit multiples of 4. /4 cg q?ﬁ 5 ) 3l aral '{[U'I'H'ﬁ DT HIH JATd cad)
1.24
2. 16
3.20

4.22

Correct Answer :-

6) Find the quotient when X% +x - 72 is divided byx—S./x2+x—72ﬁﬁx—8ﬁmaﬁﬂmﬂﬁﬁl
1.X-9
2.X+9
3.X+8

4, 2x -8

Correct Answer :-

e X+9



7) Plaster of Paris is stored in a: / WITRCX 31w Ui &Y ﬁﬁmﬂ B %
1. Metal containers / YTq UTA

2. Moisture-proof container / et eft U

3. Insulated containers / RCIRIE]

4. Glass containers / =1 & U

Correct Answer :-

e Moisture-proof container / EEIRIRIRE]

8) A pendulum oscillates 60 times in 8 seconds. Its time period is: / WW 8 ﬁmﬁ 60 W?ﬂ?ﬁm%l
S G 3afy 3:

1. 1.355/1.35 4HUS
2.0.235/0.23 AHUS
3.2.145/2.14 AHUS
4.0.135/0.13 4HUS

Correct Answer :-

e 0.135/0.13 AHUS

9) Calculate the amount if the principal = Rs. 6000, time period = 2 years and rate of interest = 5% per annum

compounded annually. / ¥FIRTRT & T B2, T AU = 6000 FU, 3raft = 2 T TUT T G = 5% YD ©I A
Thgfad 3

1.Rs. 6615/ 6615 300
2. Rs. 6420 / 6420 SUY
3. Rs. 6390 / 6390 ST

4. Rs. 6525 / 6525 3T

Correct Answer :-

« Rs.6615/6615%00

10) Refraction of light is responsible for: / UPTRT BT add A= & ﬁrq m@ aﬁT %:
1. Shadow formation / ST & AT

2. Twinkling of stars / IRl &1 feAfeHAM

3. Blue color of the sky / STHT & A T

4. Rainbow / SEUT



Correct Answer :-

« Twinkling of stars / AR} &1 feAfca™

11) 7225 Students are sitting in an auditorium in such a way that there are as many students in a row as there are
rows in the auditorium. How many students are there in the auditorium? / b HHT HdA #7225 B1H HUPR I %
% o ufda # 3o o1 &, it a1 ya= & dfwmai § 1 au1 Ha= | fsa a1 82

1.75
2. 85
3.95

4. 65

Correct Answer :-

12) 0.005832 is the cube of a rational number ./0.005832 uf¥ag I=I 1 EFI%I

13) In India, oil wells are found in: / HIRd ﬁ, Gk QT‘Q" “CI'E'\I'JUTQ T %
1. Goa / TS

2. Karnataka / Bl

3. Orissa / G@QT

4. Assam / 3TH

Correct Answer :-

e Assam / 3HH



14) Spot the producer from the following. / fFeafafaada IUlgh 3l ﬁﬂ%ﬁ iyl

1. Grass / YTq

2. Bacteria /\_rﬁaTUl

3. Grass hopper/ éﬁl

4, Mushroom / HRIRH

Correct Answer :-
e Grass/YMg

15) Name one fungus which affects stored food grains. / 3 U hddh DI AH ddIgC, S W 3ETS B
gHIfad Hrar gl

1. Neurospora /m

2. Bracket fungus / e B
3. Aspergillums /W&IW
4. Agaricus / Qﬁm

Correct Answer :-

« Aspergillums / TERATARY

16) A new born baby will double its weight in 2 months due to: /Wﬁﬂl A & ST YT HIR 2 Wﬁ?ﬂ'
T HR A

1. Overeating / 3T W & BRI

2. Increase in the number of body cells /Wﬁﬁﬁlﬁ@ﬁ@ﬁ@@%W
3. Increase in fat/WﬁQ@%W

4. Protein in miIk/QﬂﬁW%W

Correct Answer :-

« Increase in the number of body cells / TR aﬁaﬁﬁw@rﬁmﬁq@%w

17) The outermost covering of all plant parts are made up of: /Y S I 4T BT IaR dTel 3TdRU1 g e

1. Phloem / TITTH
2. Meristematic tissue / f[AHSOId® SHad
3. Dermal tissue / AT 3 dd

4. Xylem / SIIgcTH

Correct Answer :-



« Dermal tissue / @I SdP

18) The areas of a square and a rectangle are equal. If the side of the square is 24 cm and the
breadth of the rectangle is 16cm, then the length of the rectangle is: / T T 94T U 34 & &T6d
IR g1 afe T F Yot 24 T, | T4 3mad B DNSTE 16 . 8, @Y 3mud FI @ ghft:

1.32 cm /32 99
2.26 cm /26 TH.
3. 36 cm / 36 T

4, 28 cm /28 IHY,

Correct Answer :-

e 36.cm /36T,

19) PAQ is a line parallel to side BC of a triangle ABC. If ~PAB = 55° and 2ACB = 60°, then 2CAB =
. / PAQ Y ABC Ft Y=iT BC ¥ JHMIaR TP ¥T 21 Tfe 2PAB = 55° 9UT ,ACB = 60°, &t .CAB =
|

1.70°
2. 40°
3. 45°

4. 65°

Correct Answer :-
e 65°

20) The agricultural practice followed after preparation of the soil is: / &I ® dUR} H F SWId 39
P TR BT ATIRVT fobaT 7aT 3:

1. Irrigation /1%‘7’41_5c
2. Spraying pesticides and insecticides / TRUAAR ATH| G HIeARID| & fSSHa
3. Sowing / §3MT§

4. Adding manure and fertilizer / Qg d ISP ST

Correct Answer :-

« Sowing / §Gﬂ'sc

21) ABCD is a trapezium in which AB | | DC and DC is perpendicular to BC. If .DAB = 110°, then
2ABC - 2ADC = . / ABCD U% JHaW g fSr9H AB | | DC 3R DC, BC R 3ifieitaad g1 afe ~DAB =
110°, @ 2ABC - 2ADC = |



1. 18°
2. 16°
3.20°

4. 220

Correct Answer :-

o 20°

22) Say ‘No’ to plastic bags and ‘Yes' to cloth bags because: / @I &1 Aferal 1 AT #8 R PUS &
T @1 '3 BT HNfP

1. Plastics are made from wood pulp / @R AHS! b Ho-qel § st 8T &

2. Plastic bags are biodegradable / @R &t Aferat StafAw-t gt §1

3. Plastics are non-biodegradable / @& ST &1

4. Plastics are chemically reactive / TIRE® IATTd: HfHATR gt & |

Correct Answer :-

« Plastics are non-biodegradable / @R 3oiaF=+1 g1

23) Plasmolysis in a plant cell is definedasthe___ . / U® UIGU BI®T & Sagaga+ ot
& ®u § gRuTia forar man g

1. break down of plasma membrane in hypotonic medium / 3] IRIRY H41end H Siidgad sl &1 fage

2. shrinkage of nucleoplasm / P &b & Bl ngdﬂ
3. shrinkage of cytoplasm in hypertonic medium / aﬁmﬁmmﬁﬁﬁwmw
4. none of the above/mﬁﬁﬁgﬁ

Correct Answer :-

« shrinkage of cytoplasm in hypertonic medium / 3 IR A180H § HIRBTIE B Gpa

24) Electric fuse is connected i ﬁ?ﬂﬁ ot SISACIG) gl
1. across the energy meter / ol Hiex & S

2. on the live wire / ﬁw dR TR

3. on the neutral wire / 3G dR TR

4. on the earth wire / HIR WX

Correct Answer :-

« on the live wire / [dGIHI AR WX



25)

4 2 4 2

Solve forx:———==- /x & f&Av 3 ==

3x—(5-3x) & g 3x-(5-3x) &
5
1.2
5
2.4
4
3.5
3
4.5

Correct Answer :-

26) The radius and the height of a cylinder are in the ratio 4:7 and if its volume is 352 cm?, then its radius is: / T® CRE

ot B aur Su1g 4.7 F guTa ® § a1 af Ut e 352 9 9. 8, ) 3wt A gt
1.4 cm/ 499
2.8 cm /8 GHL.
3.6cm/63H.

4,12 cm/ 12 T,

Correct Answer :-

e 4cm/ 43

27) The Met Department predicted heavy thunderstorm and lightning on a particular day, and Radha
wanted to go out with an umbrella but she was advised not to carry it because: / i faurT 3 TP

&y qwT 3R farereht gafqum far ur v 1ur ue S1ar AwR a1eR ST Aredt B dAfe IR Tee g
it fr 95 39 7 @ 9 wife:

1. Electric discharge from clouds can travel to the metal parts of the umbrella / STl & ﬁg&ﬁ fagoH 310 & Yrd Xfio|
REACISESI

2. It becomes slippery to hold /%Wﬁﬁ?ﬂaﬁwﬁwél
3. It may get rusted /BFU?GWFPTW%I

4. The umbrella may get blown away/@"l?ﬂBT‘,i’W?\_ﬂTWT%l

Correct Answer :-

« Electric discharge from clouds can travel to the metal parts of the umbrella / TGl ﬁgq?{ fasH B1d & Yrd tfio|
e S bl 3|



28) A star shaped figure was cut in the black paper strip used for covering the leaf of a destarched plant used
for demonstrating that light is necessary for photosynthesis. At the end of the experiment, when the leaf was
tested for starch with iodine, the star shaped figure in the leaf was found to be: / T® TR & ATPR DI ewﬁ
HIelt BT B g8t § 1t Wt <ft et IuahT e frd 1) 3t w=it @1 e & e far wmar @ <t 9 welkia
F & AT sxauTe BT 8 % UhT=r WA & T yehTRr St 8 1 W & 3id ®, S Uil Y S gRT e & forw
gYeror fomam ar o7, o o=i § 9 B st Ot uriY

E_.

1. Brown / 3%
2. Blue black / et Srait

3. Green/ B
4. Colourless /XTRfgd

Correct Answer :-

« Blue black / =ficil ®Teit

29) PQRS is a parallelogram. Side PQ is produced to T. IF zQRS = 125°, then 2RQT = ./ PQRS U
TuiaR 9gYs 31 Yo PQ &Y fig T 9% dgrar Tl afd LQRS = 125°, dt LRQT = |

1. 125°
2. 55°
3.70°

4. 130°

Correct Answer :-

. 125°

30) The cost price of a computer is Rs. 20,650. An additional Rs. 450 was spent on installing some software.
If it was sold at 15% profit, then the selling price of the computer is / T HFYCI BT eI 20,650 IUY %I
$O AIUCdIR SRITUA (FTTTA) B T 450 T Sfafvad @ g1 T¢I afe I8 7GR 15% & ATH W 991 91T,
ot HIex FT fawwg g&a g

1. Rs. 22500 /22500 300
2. Rs. 25125/25125 300
3. Rs. 23450 / 23450 30

4. Rs. 24265 / 24265 3T

Correct Answer :-



o Rs. 24265 /24265 300



